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01 Al&l 200,000 0 200,000
Oggs U5l HYTEHE (HEHARSL
H55 50,000,000% * 14! 50,000 0 50,000
= 50,000 0 50,000
OHXE Sa2T 3|2 CEZH (HBHAE
=0l H53) 25,000,009 * 14! 25,000 0 25,000
= 25,000 0 25,000
OU=S B2l 1,47 REABLBAHLYH
MEZ2 HI5S) 0,000,008 * 14} 20,000 0 20,000
= 20,000 0 20,000
OASEl 222 OIS TH(HYTAES
ol XI55 ) 20,000,000% * 14! 20,000 0 20,000
= 20,000 0 20,000
OBHAD Sl B, SSOISS 2 EEI (YA
250 H53) 25,000,008 * 14! 25,000 0 25,000
= 25,000 0 25,000
ODIYS 52, B2I0HS sl RIEH T (S &AL
250 H53) 20,000,009 * 14! 20,000 0 20,000
= 20,000 0 20,000
ONMSSIZMS %ielsl2 2 RE2ARH (LY
HMAB SO H55) 0,000,008 * 14} 20,000 0 20,000
= 20,000 0 20,000
ONSP 2217 C2EY
20,000,008 * 14! 20,000 0 20,000
= 20,000 0 20,000
ZRIEAAY 3,170,145 2,085,145 1,085,000
401 AEHIYLS 3,169,305 2,084,305 1,085,000
01 Al&| 3,161,900 2,076,900 1,085,000
OlA&H] 3,141,900 2,056,900 1,085,000
OARSFAAXAAY
23 1,080,000,0002 * 14! 1,080,000 648,000 432,000
OM5 HIHOIS MNYR HTZTA
200,000,0008 * 14! 200,000 0 200,000
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02 * 14l 70,000 0 70,000
OAZE 20IS0HY OIARER U 242
SRIBA 50,000,008 * 14! 50,000 0 50,000

OAZ ZOH0IS 242 OIAR ZETA

40,000,0002! * 14! 40,000 0 40,000
O&tA BADIS QUSTE TA

85,000,0008 * 14! 85,000 0 85,000
OBHA AFS~E0H2H OIAR EEZA

88,000,0008 * 14! 88,000 0 88,000
OM5 FIWOIS HUTE HEIYAIL

100,000,0008 * 14! 100,000 0 100,000
02X ohpl SRERTA

30,000,008 * 14! 30,000 0 30,000
OUE SRS SREXTA

30,000,008 * 14! 30,000 0 30,000
ONE 2B =2THTA

40,000,008 * 14! 40,000 0 40,000
OTE 245t S2MHE &L 22X IA

60,000,008 * 14! 60,000 0 60,000
OME AT JHBXE SXZAI 2 o 0 50,000 50,000
OAS AROISOHY HTHTA A 0 0 30,000 30,000
OUE ARE SREHTA 25 02 0 30,000 A30,000

OKN= ZMOtS dg=z SHEHIA

2% 0 0 30,000 A30,000
ZOIZHANY 2,536,520 1,539,120 997,400
401 AlEHIL ] 2,449,520 1,539,120 910,400
01 Al&H] 2,444,000 1,533,600 910,400
O[AI&HI] 2,444,000 1,533,600 910,400
OARD FOISH AN (&85 00,000
2, 48T 420, 000% 2 )
2H 2,444,000,0002 * 14 2,444,000 1,533,600 910,400
402 212X 0| H 87,000 0 87,000
01 QIAT=E R 87,000 0 87,000
O[Al&HI] 87,000 0 87,000
O A 2H 242 HIJIR A& (401-01
oll A1) 20,000,0002 * 14! 20,000 0 20,000
OAERMZ SHOIS 242424
5,000,0002 * 14! 5,000 0 5,000
OANZERMZ SHOIS RSEHEY HH AL
10,000,008 * 14! 10,000 0 10,000
OZSO0IBAIE 2246 20,000,008 * 14! 20,000 0 20,000
OAEAIEZ| Batlle 24224
8,000,0002! * 14! 8,000 0 8,000
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S NDN - ) =] g (&9 ®M
SAN-ZH-SA(FA) - NFAY - BES O AF K JE A Hlw &2
OAEE e &0t RLAES
8,000,000 * 14 8,000 0 8,000
OAlZSE el B0 RAAES
8,000,000& = 14l 8,000 0 8,000
OANE=SOI2] S0t RLAES
8,000,000& = 14l 8,000 0 8,000
FOHAMNA (SHAZ) 1,102,376 662,376 440,000
AFE2F0HAAY 1,102,376 662,376 440,000
401 AlEHIL 20 1,102,376 662,376 440,000
01 Al&H| 1,100,000 660,000 440,000
O[AlI&HI] 1,100,000 660,000 440,000
O8Y =UHAAY
Z & 100,000,000& * 11&5H 1,100,000 660,000 440,000
StEAZES 29 1,266,645 16,160 1,250,485
& 500,000 0 500,000
= 766,645 16, 160 750,485
st=Ax8gs N& 266,645 16, 160 250,485
201 Let2d| 10,620 11,800 21,180
01 AtE22(Hl 9,720 10,800 21,080
Olger==&Hl] 9,720 10,800 A 1,080
ogtsAEs EE Flx5(200E
) Z2 & 300,000& 273 8,100 9,000 A900
OStSHEES 22 MRES 2 HI(20
LHE ) Zd3 1,620,0008 * 14! 1,620 1,800 180
02 523l 900 1,000 A100
OSt=2H=LHIE St SIS (S0 AME
2) Z& 75,0008 * 122 900 1,000 A100
203 HRF&Hl 0 1,710 A1,710
03 AMEFIHRFAH| 0 1,710 21,710
Ot 2AHES Mzl NMYPFX (20 LE
) 38 0¥ 0 1,710 A1,710
301 LetEag 0 1,350 A 1,350
08 2API=H 0| 0 1,350 A 1,350
OstsAHFES| 28l ZFHUI(204aE2)
28 0¥ 0 1,350 A 1,350
401 AIEHIZ 2 254,725 0 254,725
01 Al&H] 250,000 0 250,000
O[Al&YI] 250,000 0 250,000
Oft=A=E&3 MAIZ jda.‘:,'/\}g
250,000,000 * 14! 250,000 0 250,000
03 Al&Z=R0HHl 4,725 0 4,725
Ost=sAF 3 MAIZ HBSA A2
750,000,000 * 0.63% 4,725 0 4,725
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SN EB -GS - MBAY - BES 0 & 24 p/E-T" {imE=Eh
St2A=HE 3 NE X 1,000,000 0 1,000,000
< 500,000 0 500,000
= 500,000 0 500,000
307 GI2+0I A 1,000,000 0 1,000,000
= 500,000 0 500,000
i 500,000 0 500,000
04 BIZHHAIE X 1,000,000 0 1,000,000
ORI23| st=2H=utats|
1,000,000,000& * 14! 1,000,000 0 1,000,000
< 500,000 0 500,000
s 500,000 0 500,000
SHAMA S 3,055,000 2,000,000 1,055,000
= 2,485,000 1,400,000 1,085,000
& 0 30,000 230,000
i 570,000 570,000 0
o8 AKX SEE 3,055,000 2,000,000 1,055,000
= 2,485,000 1,400,000 1,085,000
= 0 30,000 230,000
= 570,000 570,000 0
401 Al&HIZL=ROHYI 3,055,000 2,000,000 1,055,000
& 2,485,000 1,400,000 1,085,000
& 0 30,000 30,000
i 570,000 570,000 0
01 Al&HI 3,047,800 1,992,800 1,055,000
OlAI&HI] 2,997,800 1,942,800 1,055,000
OMSSATHA ZEEHIAMA(HAONIE =4
A0l AT) Z & 2,997,800,000& 14 2,997,800 1,942,800 1,055,000
= 2,444,960 1,359,960 1,085,000
& 0 30,000 230,000
= 552,840 552,840 0
ey M3t &4 1,500,000 0 1,500,000
= 750,000 0 750,000
= 750,000 0 750,000
=M X4 1,500,000 0 1,500,000
= 750,000 0 750,000
= 750,000 0 750,000
401 Al&HI YL S OHYI 1,500,000 0 1,500,000
= 750,000 0 750,000
i 750,000 0 750,000
01 Al&H| 1,494,600 0 1,494,600
OlAI&HI] 1,494,600 0 1,494,600
OZQ=SHMELETLAMY (JHEAMES W
8%) Z & 186,825,000& * 8.0km 1,494,600 0 1,494,600
= 747,300 0 747,300
= 747,300 0 747,300
03 AIZ20i4l 5,400 0 5,400
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ol MEE MEBI XN (B9 &2
A -3 -H2A(SH) - HEAMY - BES O AF K I & HwsZ
O2OISSHEY ALLUH(LAEAR SO
W 23 1,500,000,0002 * 0.36% 5,400 0 5,400
2 2,700 0 2,700
2 2,700 0 2,700
NEZS Y 2Y 1,092,750 795,000 297,750
= 500,000 500,000 0
2 592,750 295,000 297,750
MRITHT] TIE - Op 1,000,000 750,000 250,000
= 500,000 500,000 0
2 500,000 250,000 250,000
APRIEHR] THE 1,000,000 750,000 250,000
= 500,000 500,000 0
2 500,000 250,000 250,000
401 AEHIL 20 1,000,000 750,000 250,000
= 500,000 500,000 0
2 500,000 250,000 250,000
01 Al 993,700 743,700 250,000
O[A&H] 964,883 714,883 250,000
OUEAC ABE2HHIAY
2T 482,441,50020 * 2.0k 964,883 714,883 250,000
= 482,442 482,442 0
2 482,441 232,441 250,000
HE A DB AL e S 92,750 45,000 47,750
S AILS Fy| 92,750 45,000 47,750
401 NEHIYL S0 92,750 45,000 47,750
01 Al 92,750 45,000 47,750
O[A&HI] 92,750 45,000 47,750
OUEMEY TR2RNES
2 67,100,000 * 14! 67,100 18,000 49,100
OUSATH AFMALS SRR (R0
2) A 8,550,008 * 14 8,550 9,000 A 450
OHBAMCHY E2 HHEM(2HAEY)
2 17,100,0002 * 14! 7,100 18,000 A900
HESAZHI (SAIHZ D) 59,718 62,288 AN2,570
=l 59,718 62,288 A2,570
CAFRSS JI=2HY] 27,209 28,816 A1,607
201 Y2 Y| 15,491 17,08 A1,607
01 AtR22/Hl 14,458 16,065 A1,607
Olger2gyl] 10,678 12,285 A1,607
ORNSY SAHM(ZUAME)
2 10,678,0002 * 14! 10,678 12,285 A1,607
LS89y 2B 10,243 10,515 A272
201 Y2 Ay| 5,707 5,979 A272
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